Hw Unit 6 — Integration and Accumulation of Change Name

Skill Builder: Topic 6.6 — Applying Properties of Definite Integrals

1. Suppose that / and g are continuous functions and that

2 5 5
[ f(x)dx==4, [ f(x)dx=6, and [g(x)dx=8. Find each of the following
1 1 1

a. [g(x)dx b. j 2(x)dx c. [3f(x)dx
o . 1:3-(—4):—12
z—jg(x)dxz—S
d. [f(x)dx e. [[f(x)-g(x)]dx £ [45(0-g@)]dx
3 2 —6-8=-2 = 4(6)-8=24-8=16
=[f@dx=[f@)de=6-(-4)=10

3 4
. Suppose that /" is a continuous function such that I f(t)dt=3 and J. f(@dt="1.
0 0

Find each of the following.

a. if(t)dt b. jf(t)dt
=jf(t)dt—jf(l)dt=7—3=4 z—j-f(t)dtz—4

7 7
3. If I h(x)dx =5 and j k(x)dx =3, which one of the following statements is NOT true?
3 3

(A) th(x)k(x)dx =15 (B) j[h(x) +k(x)]dx =8 (C) j-2h(x) dx =10
(D) [[A(x)—k(x)]dx =2 (B) [[k(o)=h(x)]dx =2 (F) [[AGx)+k(x)]dx=0
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Name

1 3
4. Suppose that g is a continuous function such that I g(x)dx=2 and _[ g(x)dt =-6.
-2 1

=)
Find j 2(x)dx.
3

=—[ g(x)dx = —U g(x)dx+jg(x)dx]

=2+ (-6) =~(-4) = 4

5. Each of the regions in the figure bounded by the graph of f(x) and the x-axis has area 3.

y
A
B
i -"
ol ’ C
Find each of the following.

a. [[4f(x)-5]dx b. [l (0)]dx e [f(x)dx
=4(-3+3-3)-5(6) =3+3+3=9 2
—_12-30=-42 :‘if(x)dx

=—(-3+3-3)=3

d. Jf(|x|)dx e. Jf(x)dx f. Jf(—x)dx
=—3+-3 =|-3+3-3/=3 =—3+3-3
=—6 =-3
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